4eThIpe ApoOH, TeCATUUHBIE IPOOH, TOPSTOK
oreparmii o CKOOKaMu

Nwms: Jara: Orenka:
204—5,8)+5%x5+4,5= 3+2(5,6+2,4)=

2 1 1

-——4.1 —-5,4= — X 15+5+4Q2— =)=

(5 ,1)x3-=135, 3 X 15 +5+4( 5)

1 2 1

-—44 —2.4= 4+ )x2-23=

1 2 _ _ _

3,2X10+5_3(§—§): (297 392)X3 3:7

4,3+4(3,7-3)= %x4+2+4(§+§)=
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oreparmii o CKOOKaMu

BYEH

Nwms: Jara: Orenka:

63 1 _
20(4-5,8) 5% 5+4,5= (—) = (315) 31205,6+2,4)=19

(%—4,1)><3—5,4= (—32—3)2(—16%) %x 15+5+40Q2 - %)=45—1= 8%
G4 x5-24= (3= (2m2 G+9x2-23=CD)=(17)
3,2 % 10+5—3(%— %)z 35—3 =6§ (2,7-3,2) 3—3,7=(—25—6)=(—5%)
4,3+4(3,7—3)=%=7% %x4+2+4(§+§)=%=4%
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